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To count and write the total
number of counters in two sets.
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To count and write the total
number of counters in two sets.
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To count and write the total
number of counters in two sets.
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Name

=2
—
-
-
pus |
O
(&

000
000 e00e OO0

s

o

000

000 000
000 000
000 ® 000
000 000 OO0

o0
000 @0 000

>0
+

Q.
QQ..QQ
00 000 000

S
+

00 @00
000 00 000
000 000 000
000 000 000

18:U
— +

.
QQ.Q
000 000 000

+

4

000

O 000 000
000 000 000

+

9
o "D

000 000
O 000 000 o

— QO

number of counters in two sets.

©
K]
=4
Q
=
=
£
1
s
T
f=4
(~}
£
=
o
(V]
o
(=

WALT




